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Participants run continuously between two points at a fixed 20-meter distance. Each 20

meter distance completed is called a “shuttle”.

The test is broken down into a number of levels of approximately 1 minute each, with each

level requiring a fixed number of shuttles to be completed within the allocated level time.

At level one, the running speed required to complete each shuttle is usually 8.5 km/h, with

each subsequent level increasing the speed by 0.5 km/h.

A recorded or generated beep is played to indicate the time by which a participant must

have completed a shuttle.

A shuttle is considered completed when the participant’s foot touches the next 20 meter

mark.

If participants arrive at the the 20 meter mark before the next beep sounds, they must wait

for the beep before running again.

If participants fail to reach the 20 meter mark by the next beep, they must increase their

pace to make up the lost time within the space of 2 more beeps

The test stops when the participant fails to arrive within 2 meters of the 20 meter mark for

two consecutive shuttles.

The participant’s score is given as a combination of the level reached and the number of

shuttle completed at that level.
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Level

Shuttles

running speed

time per shuttle

Total level time

Cumulative Time

Distance per level

Cumulative Distance

(km/h) (s) (s) (min:seconds) (m) (m)
1] 7 8.5 9 63 01:03 140 140
2| 8 9 8 64 02:07 160 300
3| 8 9.5 7.58 60.6 03:08 160 460
4109 10 7.2 64.8 04:12 180 640
5109 10.5 6.86 61.7 05:14 180 820
6| 10 11 6.55 65.5 06:20 200 1020
7| 10 11.5 6.26 62.6 07:22 200 1220
8| 11 12 6 66 08:28 220 1440
9| 11 12.5 5.76 63.4 09:32 220 1660
10| 11 13 5.54 60.9 10:32 220 1880
11| 12 13.5 5.33 64 11:36 240 2120
12] 12 14 5.14 61.7 12:38 240 2360
13| 13 14.5 4.97 64.6 13:43 260 2620
14| 13 15 4.8 62.4 14:45 260 2880
15| 13 15.5 4.65 60.4 15:46 260 3140
16| 14 16 4.5 63 16:49 280 3420
17| 14 16.5 4.36 61.1 17:50 280 3700
18] 15 17 4.24 63.5 18:53 300 4000
19 15 17.5 4.11 61.7 19:55 300 4300
20| 16 18 4 64 20:59 320 4620
21| 16 18.5 3.89 62.3 22:01 320 4940
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1-7 5 1-7 5
8-15 10 8-15 10

16-23 15 16-19 15
24-39 20 20-24 20
30-34 25 25-29 25
35-38 30 30-34 30
39-42 35 35-38 35
43-46 40 36-39 40
47-49 45 40-42 45
50-52 50 41-43 50
53-56 55 44-47 55
57-61 60 48-51 60
62-65 65 52-55 65
66-69 70 56-58 70
70-72 75 59-61 75
73-76 80 62-65 80
77-80 85 66-69 85
81-83 90 70-73 90
84-85 95 74-77 95
86 1115 100 78 r1fs 100
g 3 -
C & 70 & 66 A 56 A
B i 80 A 73 A 62 A
A B 85 A 77 A 66 A
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